, compulsority draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification

Important Note : 1. On completing your answers

50, will be treated as malpractice.

, appeal to evaluator and /or equations written eg, 42+8
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Eighth Semester B.E. Degree Exam ’,tibn, Feb./Mar. 2022

lax. Marks:100

List the characteristics of 2G‘and.3G generations of cellular system. (06 Marks)

Describe with a neat flow dlagrﬁ’m the AMPS 1n1t1ahzat10n operation. (08 Marks)

Write on UMTS 3G cellular system and CDMA 200;0 3G cellular system. (06 Marks)

With a block d1agram explam a typ1cal subscnbegdewce of cellular system. (07 Marks)

ck diagram, explain the components of the

(10 Marks)

\, IMSI and IMEL (03 Marks)

Explain the different capacity expansmn techmques in cellular system. (12 Marks)

Explain the location management i m aw1reless cellular network. (08 Marks)

With a neat schematic, explain the GSM network irite : (10 Marks)

Briefly explain the GSM channel concept. (10 Marks)
PART B

Define MSRN. What 1s the purpose of MSRN" Also explam the GSM call set up using

MSRN. (10 Marks)

With neat flow- d’lagram briefly expla'; ) GSM Intra- BSC and Inter-BSC handover. (10 Marks)

Explam w1th a neat diagram, the network nodes found in a CDMA 2000 wireless system.

. (10 Marks)
Descri ¢ three types of soft CDMA handoff. " (06 Marks)
Describe the three states thata CDMA mobile may be in while in the attached mode.

(04 Marks)

:ﬂ,ﬁsré‘What is the recelved power in dBm for a SIgnal in free space with a transmitter power of
“1W, frequency of”“ 1900 MHz and distance from the receiver of 1000 mts, if assume the

Gt = G, = 1.6,/ whit is the path loss i 'dB. (04 Marks)

Describe OEDM ‘and UWB technelbg1es (10 Marks)

With neat bloek diagram, explam RAKE Receiver. (06 Marks)

List the characteristics oflEEE 802.11X technologies. » (06 Marks)

Explain Bluetooth piconet and scatteret architectures. (08 Marks)

Describe basic wireless MAN. (06 Marks)
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